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= 3,372,462
= 580,625
o= 1,478,684
Al 3,669,679
ZHOHOI M EHOHAE X & 4,638,124 4,034,443 603,681
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[0 2 N8 X AA 747,832
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3,116
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=

3,800
5,700

= H W

19,000
9,500
3,800
5,700

19,000

3,800,000& = 5Jt=

= MW

19,000
19,000

19,000

9,500
3,800
5,700

19,000

= H1 W

168,705
84,352
25,306
59,047

126,325

42,380

101 21 24H|

= H W

168,705
84,352
25,306
59,047

126,325

42,380

04 JIH 2R IS S 4
[ 2DEEAY

O HojeI=RYR2l X

14,058,7502 * 128

= H1 W

168,705
168,705

168,705

84,352
25,306
59,047

126,325

42,380
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193,817

96,908
33,918

188,955

4,862
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62,991

= H W

193,817
96,908
33,918
62,991

188,955

4,862

14,536,250 » 12

1,615, 140& * 128

= H W

= H W

193,817
193,817

174,435
87,218
30,528
56,689
19,382

9,690
3,390
6,302

188,955

4,862

= H W

2,054,610
1,438,227
147,932
468,451

2,184,304

A129,694

= H W

2,054,610
1,438,227
147,932
468,451

2,184,304

A129,694

2,054,610,000& = 14l

= H W

2,054,610
2,054,610
2,054,610

1,438,227
147,932
468,451

2,184,304

A129,694
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301 LetE A= 3,278 5,010 N1,732
996
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= H
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O St NASTe 2t8stdl X 3,278,000& * 14 3,278

996
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,205,194 235,358 969,836
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108,467
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= H W
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843,636
108,467
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=H W
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4,000
300
700
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= N

64,631

19,390
45,241

64,631

307 2I2HO| &

=

64,631

19,390
45,241

64,631

64,631,000& » 14|

=

64,631
64,631

64,631

19,390
45,241

64,631
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1,546,974
580,625
200,337
766,012

1,631,675

A84,701

=

171,051

39,804
131,247

166,570

4,481
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307 gIzto| A 171,051 166,570 4,481
& 39,804
Al 131,247
10 At3I =X EX 171,051 166,570 4,481
O SHIEZAY 171,051
O ZHFUESAIE2S(01Y) 85,525,500& * 244 171,051
= 39,804
Al 131,247
T SHEHS2HE(01Y) 102,705 102,705 0
= 17,460
Al 85,245
307 2I2+01 A 102,705 102,705 0
= 17,460
Al 85,245
10 At SXE X 102,705 102,705 0
O SHIEZ ALY 102,705
O =stSAdH2(01e) 102,705,000& * 102 102,705
& 17,460
Al 85,245
NI AR EHHS SR A(0/Y) 107,823 105,000 2,823
& 21,565
Al 86,258
307 212+01 A 107,823 105,000 2,823
& 21,565
Al 86,258
10 At =SR2 X 107,823 105,000 2,823
[ SHIEZ ALY 107,823
O ZHIAREHEH2H(01Y) 107,823,000& * 10§ 107,823
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580,625

35,000
224,375

= H1 A

307 212H01 A 840,000 780,000 60,000
580,625

35,000
224,375

= H1H

05 QIZtQIErD 840,000 780,000 60,000
CHI B XA 840,000
O ZoHeIssr=na 29(01%) 840,000,000 * 1A 840,000
580,625

35,000
224,375

= H1 A

S XAIESA A== 124,000 100,800 23,200

31,000
93,000

= H

307 212H01 A 124,000 100,800 23,200

31,000
93,000

B

10 AFRISXIEX 124,000 100,800 23,200
[ SHIZE =AY 124,000
O HOHI=SXIAESALR =S 124,000,000& = 14 124,000

= 31,000
Al 93,000

SSEMHANSAN2EEH2E 144,729 141,600 3,129
< 38,508
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Al 106,221
201 LBt | 6,100 6,600 2500
01 At 2teldl 6,100 6,600 2500
O dxt= 6,100
O ST XI2HEH 6,100,000& * 14 6,100
307 glzto| A 138,629 135,000 3,629
= 38,508
Al 100, 121
05 QI2HRIE S 138,629 135,000 3,629
O EHIEX A 138,629
O ST EHXN2MMEZSA 138,629,000& * 14 138,629
L= 38,508
Al 100, 121
ZOHCIXIGALS THEAIE S 23,333 20,000 3,333
& 7,000
Al 16,333
402 QIZ2EXHE0I A 23,333 20,000 3,333
L= 7,000
Al 16,333
01 QIZEXIEE X 23,333 20,000 3,333
O SHIEXAE 23,333
O ZHOWQIXISAISI THEAIE XHSFXIR(012F) 23,333,000& * 1CH 23,333
& 7,000
Al 16,333
ORISR ZSISELASE(01L) 33,333 15,000 18,333
& 10,000
Al 23,333
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402 2I2b X201 ™ 33,333 15,000 18,333
= 10,000
Al 23,333
01 QIZEXHE2E X 33,333 15,000 18,333
O SHIEXZAE 33,333
O Hojesx2asIis2Z A 33,333,000 * 14] 33,333
= 10,000
Al 23,333
ZOHOIH ML E K= 178,281 160,353 17,928
ZOHOI I AL TH & 153,465 125,753 27,712
201 LEr2Z| 52,765 33,113 19,652
01 At 2t2|HI 52,765 31,925 20,840
[0 Lt==ZH| 27,075
O HeIltsx 52X+ 1,000& = 2,0000H 2,000
O ZOHQIZHATHMl Al& &I HIZ 100,000 * 259 2,500
O Zoiel XtEa=X & AINM W= 1,000,000& * 13l 1,000
O Zohel EX & QUL ME 20,0002 = 500 10,000
O #HAEAIRII| AR2E 2 11,575
SA| EH 70,000& = 1CH = 103 700
SA £ 340,000& * 1CH = 53] 1,700
SANSI| EH 105,000& ~ 1CH * 53l 525
DelHI &8 2 EY 350,000 * 500 * 33 5,250
Z2ZEHI EY 1,000,000& * 23l 2,000
HEARID| RAIE==H| 100,000& * 7CH * 23] 1,400
O 234 21,840
O HOHQ =AY 2ARAZS dAt=E 70,0003 * 84 123l 6,720
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01 = LHo1H| 14,400 14,400 0

O ZojeI=xee £ 80,0008 * 5% * 22 * 103 8,000

[ &0§Ql HOAlE H 20,0008 * 5% * 402 4,000

1 ZOHQIeHAL & O 80,0003 * 5% = 2& * 33 2,400
301 YerE A3 13,400 3,840 9,560
10 HAHALHI 2 AIS 3,800 3,840 A4

O M2 &4l HESA &IIT 2 80,0002 * 2,400

[ =0K4el JISHIIS 80,0002 * 800

(] ZOHQISHAL KRS A 20,0003 = 600
12 e A 9,600 0 9,600

O ZOHQIBIAIL AFAARS 50,0008 * 22 * 83| * 9,600
307 BIZHO| 72,900 74,400 A1,500
10 AtRI S X 22 72,900 74,400 1,500

O SSZ0He gelhla B0=D 3,500,000 = 14 3,500

O NAME T2 2 2,700,0008 * 14! 2,700

[ DSX0 T2 2 2,700,0008 * 14! 2,700

O ARl 202 2 2,700,0008 * 14! 2,700

O =0t T2 29 2,700,000& = 14 2,700

O &ofel 223 T2 ) 2H 2,700,000 = 14 2,700

O NEE0je T2 2 2,700,0008 * 14! 2,700
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[ ZOHe! MEXE =208 29 2,000,000& * 43| 8,000
O ZoHelel & DS &AL 15,000,000 = 14 15,000
O Zopel sXsd 2208 299 5,000,000& » 14 5,000
ORI EH S A 24,816 34,600 AN9,784
202 O44| 1,600 1,600 0
01 SLHA LI 1,600 1,600 0
O ZOHBoAE S8 P2 82 80,0003 * 2H * 7 1,120
O ZOHESAIE BH 20,000& * 2H * 12 480
401 A& HIZL 2 0HYI 20,216 30,000 A9,784
01 AI&H] 20,000 30,000 210,000
(] ZOHCIXIE S HU 25 FAHHSIAIE Hb| 10,000,000& = 14l 10,000
] ZOHelAld &bl 10,000,000& = 14 10,000
03 AIEZ 20l 216 0 216
[ ZOHQIEHIAEEE| AIEROHYI 20,000,000 = 1.08/100 216
405 AHAHE S| 3,000 3,000 0
01 et 2 S F S 3,000 3,000 0
O ZOHIXIESXE 28 HOES S 300,000& * 10902 3,000
ZOfI = XX & &t H 802,576 792,966 9,610
= 231,592
= 140,817
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KEHZOHIKIHHE 2F 100,000 100,000 0
& 25,000
Al 75,000
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226,552
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=H W

323,646
226,552
33,983
63,111

354,655

A31,009

323,646,000 = 1

= H W
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323,646
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226,552
33,983
63, 111

354,655

A31,009

= H

17,311

5,194
12,117

17,311

307 212+01 &

= H
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5,194
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10 AFBISXIE X 17,311 17,311 0
O EHIEXAY 17,311
O siissdERIesIH 17,311,000& * 14] 17,311
& 5,1%
Al 12,117

ANELENARS R AHEERA 7,200 12,000 24,800
= 5,040
= 756
Al 1,404

307 2I2H01 A 7,200 12,000 4,800
= 5,040
< 756
Al 1,404

05 QIZtRIE = 7,200 12,000 24,800
O I NEXAE 7,200
O HOEEXNH 7,200,000& » 14 7,200
= 5,040
= 756
Al 1,404

WS AL I GHRHAHE X2 58,000 45,000 13,000
& 12,500
Al 45,500

307 212H01 A 58,000 45,000 13,000
= 12,500
Al 45,500

10 At2l S X2 58,000 45,000 13,000
O SHIEXAY 58,000
O wEhlohiXtat& X 58,000,000 * 10H 58,000
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ZHOHQITHOHE XIS AHEIE (012F) 92,419 90,000 2,419

18,484
73,935

= H

307 212+01 & 92,419 90,000 2,419

18,484
73,935

= H

10 AFRIS X2 X 92,419 90,000 2,419
[ SHIEE=AE 92,419
O ZOHQI OIS XIS AHHIE (012F) 92,419,000 = 1JHA 92,419

18,484
73,935

= i

ZOHQIIIE XA MEH KA 45,000 45,000 0

13,500
31,500

B

307 eI2+o1 A 45,000 45,000 0

13,500
31,500

= H

10 AFRIS X2 X 45,000 45,000 0
[0 SHIEE=AE 45,000
ZOHQI OISR MEH XA 45,000,000& * 1JHA 45,000

13,500
31,500

= H

NMEOCl HoAlE AL 99,000 99,000 0
24,000
75,000

= H

307 212H0| & 99,000 99,000 0
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10 At2I S X2 99,000 99,000 0
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ZOHQIDI S Ated| 2t el At 30,000 30,000 0

L= 7,400

Al 22,600
307 212H01 A 30,000 30,000 0

S 7,400

Al 22,600
10 At2IE X EX 30,000 30,000 0
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O ZOHQUIIS At 22| At 30,000,000& = 1002 30,000

= 7,400

Al 22,600
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307 1ztol A 30,000 0 30,000
10 At2I S X2 30,000 0 30,000

[0 =SSR 2IZE XHF 2S X 30,000,000& * 14l 30,000
SEXNAESUAZRRA 38,750 39,215 A465
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301 et A= 38,750 39,215 A465
09 SUZRRABLS 38,750 39,215 A465




2A:

X-I iH

D MOHRIE XS A
I:|-O|:

S X2 a8

(i

EI'/\I/\—i_A_OID.DE

T

FY

PSHE]
SN - BB SR(S) - MRAY - BY 0l o i
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O =S4 5,000& » 3198 » 2502 38,750
ZOHQ M E AL X R 1,292,965 1,265,465 27,500
& 719,502
Al 573,463
ZHOHQIMEAI 2K (012) 1,277,600 1,253,665 23,935
L= 715,460
Al 562,140
307 glztol A 1,277,600 1,253,665 23,935
= 715,460
Al 562,140
10 AFBISXIE X 1,277,600 1,253,665 23,935
O SHIEXZAE 1,277,600
O ZHOQMEAE2H(01Y) 1,277,600,000& * 14! 1,277,600
& 715,460
Al 562,140
ZOHQUMEAL HOESIIR 3,000 3,000 0
& 900
Al 2,100
307 gIztol A 3,000 3,000 0
L= 900
Al 2,100
10 AFBISXIE X 3,000 3,000 0
O SHIEXAE 3,000
O HOHOIMEAL HEEST 3,000,000& = 14 3,000
= 900
Al 2,100
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1,840
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= H
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1,840
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< 200
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O EHIEXAY 900
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L= 832
Al 2,168
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Al 2,168
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01 AI&H] 600,000 0 600,000
[ ZoHe! MATHEAE EXN2H 600,000,000& * 14l 600,000
03 Al 2 0HHI 3,780 0 3,780
(] ZOHIAATHEAIE EXNEL AIZSHYI 600,000,000& * 0.63/100 3,780
Mot el = XIALS 24,919,859 23,890,921 1,028,938
= 17,052,657
&2 770,847
= 1,304,689
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62,961
176,043
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352,696
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176,043

591,700
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591,700,000& = 1

Al
o
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62,961
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375,779
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O Z22Y SEHAZHI(01E) 378,131,000& * 14 378,131
= 28,207
& 113,439
Al 236,485
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